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package Conexao;package Conexao;package Conexao;package Conexao;

/**
 *

 * @author Cynthia Lopes Cynthia Lopes Cynthia Lopes Cynthia Lopes
 * @author Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior
  */
public class public class public class public class Access  {

    private String nomeSGBD;    private String nomeSGBD;    private String nomeSGBD;    private String nomeSGBD;    private String nomeSGBD;    private String nomeSGBD;    private String nomeSGBD;

    private String host;    private String host;    private String host;    private String host;    private String host;    private String host;    private String host;
    private int porta;    private int porta;    private int porta;    private int porta;    private int porta;    private int porta;    private int porta;
    private String nomeBD;    private String nomeBD;    private String nomeBD;    private String nomeBD;    private String nomeBD;    private String nomeBD;    private String nomeBD;
    private String usuario;    private String usuario;    private String usuario;    private String usuario;    private String usuario;    private String usuario;    private String usuario;
    private String senha;    private String senha;    private String senha;    private String senha;    private String senha;    private String senha;    private String senha;
    private boolean enableMessages;    private boolean enableMessages;    private boolean enableMessages;    private boolean enableMessages;    private boolean enableMessages;    private boolean enableMessages;    private boolean enableMessages;

    public     public     public Access(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {(String nomeSGBD, String host, int porta, String nomeBD, String usuario, String senha) {
        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;
        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;
        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;
        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;
        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;

        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;
        
        // Uso exclusivo para depuração.        // Uso exclusivo para depuração.
        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;
    }

    // Construtor para PostgreSQL.    // Construtor para PostgreSQL.
    public     public     public Access(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {(String nomeBD, String senha, String host) {
        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";        this.nomeSGBD = "postgresql";
        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))        if((host == null) || (host.trim().isEmpty()))
            this.host = "localhost";            this.host = "localhost";            this.host = "localhost";            this.host = "localhost";            this.host = "localhost";            this.host = "localhost";            this.host = "localhost";            this.host = "localhost";            this.host = "localhost";            this.host = "localhost";            this.host = "localhost";
        else        else

            this.host = host;            this.host = host;            this.host = host;            this.host = host;            this.host = host;            this.host = host;            this.host = host;            this.host = host;            this.host = host;
        this.porta = 5432;        this.porta = 5432;        this.porta = 5432;        this.porta = 5432;        this.porta = 5432;        this.porta = 5432;        this.porta = 5432;        this.porta = 5432;        this.porta = 5432;
        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;
        this.usuario = "postgres";        this.usuario = "postgres";        this.usuario = "postgres";        this.usuario = "postgres";        this.usuario = "postgres";        this.usuario = "postgres";        this.usuario = "postgres";        this.usuario = "postgres";        this.usuario = "postgres";        this.usuario = "postgres";        this.usuario = "postgres";
        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;
        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;        this.enableMessages = false;

    }

    public String     public String     public String     public String     public String getURL(()  {
        if (this.enableMessages)        if (this.enableMessages)        if (this.enableMessages)        if (this.enableMessages)        if (this.enableMessages)        if (this.enableMessages)        if (this.enableMessages)        if (this.enableMessages)
            System.            System.            System.out.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);.println("jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD);

        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;        return "jdbc:" + nomeSGBD + "://" + host + ":" + porta + "/" + nomeBD;
    }

    public String     public String     public String     public String     public String getUsuario(()  {
        return usuario;        return usuario;        return usuario;        return usuario;        return usuario;
    }

    public void     public void     public void     public void     public void setUsuario(String usuario) {(String usuario) {(String usuario) {(String usuario) {(String usuario) {(String usuario) {(String usuario) {
        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;        this.usuario = usuario;
    }

    public String     public String     public String     public String     public String getSenha(()  {
        return senha;        return senha;        return senha;        return senha;        return senha;
    }

    public void     public void     public void     public void     public void setSenha(String senha) {(String senha) {(String senha) {(String senha) {(String senha) {(String senha) {(String senha) {
        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;        this.senha = senha;
    }

    public String     public String     public String     public String     public String getHost()) {
        return host;        return host;        return host;        return host;        return host;
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        return host;        return host;        return host;        return host;        return host;
    }

    public void     public void     public void     public void     public void setHost(String host) {(String host) {(String host) {(String host) {(String host) {(String host) {(String host) {
        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;        this.host = host;
    }

    public String     public String     public String     public String     public String getNomeBD()) {
        return nomeBD;        return nomeBD;        return nomeBD;        return nomeBD;        return nomeBD;

    }

    public void     public void     public void     public void     public void setNomeBD(String nomeBD) {(String nomeBD) {(String nomeBD) {(String nomeBD) {(String nomeBD) {(String nomeBD) {(String nomeBD) {
        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;        this.nomeBD = nomeBD;
    }

    public String     public String     public String     public String     public String getNomeSGBD()) {
        return nomeSGBD;        return nomeSGBD;        return nomeSGBD;        return nomeSGBD;        return nomeSGBD;
    }

    public void     public void     public void     public void     public void setNomeSGBD(String nomeSGBD) {(String nomeSGBD) {(String nomeSGBD) {(String nomeSGBD) {(String nomeSGBD) {(String nomeSGBD) {(String nomeSGBD) {
        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;        this.nomeSGBD = nomeSGBD;

    }

    public int     public int     public int     public int     public int getPorta()) {
        return porta;        return porta;        return porta;        return porta;        return porta;
    }

    public void     public void     public void     public void     public void setPorta(int porta) {(int porta) {(int porta) {(int porta) {(int porta) {(int porta) {(int porta) {
        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;        this.porta = porta;
    }

    public boolean     public boolean     public boolean     public boolean     public boolean isEnableMessages())  {
        return enableMessages;        return enableMessages;        return enableMessages;        return enableMessages;        return enableMessages;

    }

    public void     public void     public void     public void     public void setEnableMessages(boolean enableMessages) {(boolean enableMessages) {(boolean enableMessages) {(boolean enableMessages) {(boolean enableMessages) {(boolean enableMessages) {(boolean enableMessages) {
        this.enableMessages = enableMessages;        this.enableMessages = enableMessages;        this.enableMessages = enableMessages;        this.enableMessages = enableMessages;        this.enableMessages = enableMessages;        this.enableMessages = enableMessages;        this.enableMessages = enableMessages;        this.enableMessages = enableMessages;        this.enableMessages = enableMessages;
    }
}
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